o R =
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 §
Naam: Datum: Score:

2 6 5 5
— 4+ - = 4+ =
9 9 9 9
3 | 4 1
Z4l-= 4=
6 6 3 3
3 1 2 5
6 6 6 6
4 5 1 2
7 7 8 8
3 5 2 1
7 7 9 9
6 5 7 4
8 8 8 8
4 1 5 5
-+ = = 4+ =
8 8 6 6
4 2 2 2
-+ = = — 4+ ==
9 9 8 8
2 6 | 1
— 4+ - = —+1= =
77 23 13
3 1 1 3
4+ = — 4+ = =
4 4 77

www.snowmath.com


https://www.snowmath.com

o)) A\ IR =
(()) "&!}' =] fo optellen van breuken (dezelfde noemer)

d I

Naam: Datum: Score:
2 6 8 5 5 10 1
4222 T4l
9 9 9 9 9 9 9
3 1 5 2 4 1 5 2
—t+l-==-=1z —t+-===1=
6 6 3 3 3 3 3 3
3 1 2 2 5 7 |
Z4+-=2 S+ =l-21-
6 6 3 6 6 6 6
4 5 9 2 1 2 3
—+Z=2=1Z —+ ==
7 7 7 8 8 8
3 5 8 1 2 1 1
—+i=-=1= Sro ==
7 7 7 9 9 3
6 5 11 3 7 4 11 3
4= =12 o= =2
8 8 8 8 8 8 8 8
4 1 5 5 5 5 2
—+ —=— —+—-—=—=1-=
8 & 8 6 6 3 3
4 2 2 2 2 1
—+ === 4+ =
9 9 3 g8 8 2
2. 6_8 1 Sl 112
77 7 7 33 3 73
3 1 1 3 4
—+ =1 4+ =
4 4 77
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